REVISIONS
PART NO.
D URATOO L ECN# | REV DESCRIPTION DRAWN | DATE |CHECKD| DATE |APPRVD | DATE
DTRWS-SR-1-01 - 1.0 RELEASED AB [17/03/15] ER [17/03/15| ER [17/03/15
RoHS
Compliant
o
o)
/1:\ Specifications:
Material : PAG6
98
&)
— 6.9 —
- 10.8 — ‘* 5.6 —
7\ N P
J & Part Number Table
m o
1 T Description “A” “B” Part Number
| R
: : ; 7[ Saddle, Screw MNT, 11.4 x 4.3mm, PK50 11.4mm | 4.4mm | DTRWS-SR-1-01
15. 4 o 1 12. 4 1 Saddle, Screw MNT, 16.3 x 9.1mm, PK50 16.3mm | 9.3mm | DTRWS-SR-2-01
) S Saddle, Screw MNT, 25.4 x 18.5mm, PK50 | 25.4mm | 18.4mm | DTRWS-SR-3-01
Dimensions : Millimetres Saddle, Screw MNT, 33.3 x 26.4mm, PK50 | 33.4mm | 26.4mm | DTRWS-SR-4-01
www.elementi14.com
www.farnell.com
www.newark.com
WWW.CpC.co.uk
www.mcmelectronics.com
Impo_rtant Notice : This data s_heet ang its c?nlems (the "Informf:}tion") _belong_to the members of the TOLERANCES DRAWN BY DATE DRAW'NG TlTLE
preir Famad g of coerin (s rou) o ar oo o . o konce i g for o us o AB 17/03/15 Wire Saddle Snap Rivet
intellectual propgrty rights is‘ granted. The Information‘is §ubje<;t to change without notice and replaces all UNLESS OTHERWISE
e oo e 2 | S DECIFIED, CHECKED BY: DATE: ["SiZE | DWG NO, ELECTRONIC FILE REV
;hi‘?fiﬂ’mo;i;iSfﬁo??njke"??_nfa:;T;;Ii?nfi"éiit;?on ?nfSr‘;f’?;Z'n°:”n§_Bdelq:{t”Jmiée'§‘Libﬁnﬁ'%rjf,; o | DIMENSIONS ARE ER 17/03/15 [ A4 DTRWS-SR-1-01 DTRWS-SR-1 1.0
el o ke e ot e ol (g by et e e99e: | FOR REFERENCE APPROVED BY. | DATE.
gpele ol o b o bl o doah o prsonal iy ein fom s neence | PURPOSES ONLY. — — 3o SCALE: NTS U.OM.: mm SHEET 1 of 1




